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145 | Which acid is present in tomato ? GTCL AE 22 Oxalic Acid

146 | Hemoglobin in the blood is — GTCL AE 22 Protein

147 | Which acid is present in tomato ? GTCL AE 22 Malic Acid

148 ? AM BTCL 23

149 AM BTCL 23

150 | Which is related to DNA? AM BTCL 23 ACGT.
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Analytical Ability
20%3-203¢ AR 2% Tex o WRR IS At =iz

SL | Questions Exam Year Solution
1 - [SGCL-20 AE] | 60

2 How many times a watch’s is 90° in a day [SGCL-20 AE] | 44 times

3 If A'is 7 years younger than B. If the ratio of | [SGCL-20 AE] | = if B age is x, then A is x

. _— : _7
their age is 7:9 what is the age of A. x—7 7
x 9
= 9x - 63 7x

= 2X=63,x=315
- AIs315-7=265

4 A take twice as much time as B thrice of B to | [SGCL-20 AE] | B=x, A =2x, C =2x
ini i 1 1 1 1
finish a work. working together they can I S e
finish the work in 12 days. Find the number of x 2x 3x 12
L A=2x22=44

days needed for A. to do the work alone.
5 The price of 2 sarees and 4 shirts is RS 1600. | [SGCL-20 AE] | 2x + 4y = 1600 ----- (i)

With the same money one can buy 1 saree and X + 6y = 1600 x 2
6 shirts. If one wants to buy 12 shirts. how 2x + 12y = 3200 ---(ii)
much shall be have to pay? Let sare and shirt (i) = (i) > we get
price x &y (Rs) 8y = 1600 = y = 200
X =400.. 12 x 200 = 2400
RS.
6 LCM of x and y =? (where y is a multiple of | [SGCL-20 AE] | = y = kx (where k is a
X) constant) LCM of x, y is
X, kx
. LCM =kx =y

7 Which number is divisible by three | [SGCL-20 AE] | Ans. :d
consecutive integers?
a.1b.3c.6d. None

EEEEEEY | v et et (
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Analytical Ability

8 If a train is 20 long. velocity is 20 km/hr. then | [SGCL-20 AE] | s = vt= 20 + m = 20 x %
\t/::iirj.)lom bridge 20s what is the length of the « 20 = m = 55 x 20 =
111.11-20=91.11
9 What is the probability of falling a pair of | [SGCL-20 AE] | When two coins are tossed
coins head. the number of outcomes=4
al p1cod?l {HH,TT,HT,TH}
3 2 The favorable outcomes=1
{HH}
=~ Probability of getting
two
head=Total no. of outcome
sFavourable outcomes=41
10 | A student pass math 60%, english 50%, 30% | (SGCL-20 AE) | students pass at least one =
fail in both. What is the percentage of students 100 — 30% = 70% n(AuUB)
will pass on both? =n(A) +n(B) - n(AnB) =
n (AnB) = 40%
11 | A and B can complete a piece of work in 35 | [PGCB-20 AE] | AB together =
days while A can complete the same work in A alone x B alone
60 days. B alone will be able to complete the A alone + B alone
same work in. 35=00%B . p_gs days
60+B
12 | A train of 100m is moving at a speed of | [PGCB-20 AE] | | = 100m, Relative speed =
70km/hr. In what time will it cross a man who 70 — 10 60 km/hr L =
is walking at 10 km/hr. in the same direction. Relative speed x t x g
= % X % =65
13 | There are 4 women and 4 men sitting in a | [PGCB-20 AE] 4 3 3
waiting room for job interval if two of the 8 7712
applications are selected at random. What is
the probability that both will be women?
14 |[IfA>0,B<0,c>1, D <1then which one | [PGCB-20 AE]
must be true?
15 | 10 bulbs illuminated for 4 hours everyday | [PGCB-20 AE] | ynit cost = —22% —
10X4X2
costs 12.50 tk for 20 days. How many bulbs 0.015625 Tk 0x4x20
needs to illuminated for 30 days (4hours per Number of new bulbs =
day) Producing a cost of 21.75 tk 21.75
0.015625x30x4
~11.8 = 12

X
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Analytical Ability

16 | A man whose bowling average is 12.4 takes 5 | [PGCB-20 AE] | average lost match = 2% _
wickets for 26 runs and there by decrease his x 68 5
average by 0.4. The number of wickets taken 5.2 => T o2 X7
by him before last match is? 85 wickets

17 | In an examination 72% of the students failed | [PGCB-20 AE] | Failed in Bangla only = 72
in Bangla in English. If 35% failed in both -35=37%
subjects, what percentage of students passed Failed in English only = 42
in both subjects -35=7%

total failures = 37% + 7% *
35% =79

. 100—79 =21% passed in
both subjects.

18 | A sum of money is to be distributed among | [BADC-20, 4 — (2000)
A,B,C,D in the portion of 5:2:4:3. If C gets PGCB-19] 542444+ 3x -

1000 taka more than D, C =? = 4x
a. 500 b. 1500 c. 2000 d. None = 28000
28000
= X = "
= 7000
57;2+4+3><7000
=—Xx = 2000
14
= 28,000
= x =222 = 7000
Ans. C = 2000

19 | If logio® + logio (5% +1) = logio(x+5) +1 then | [NWPGCL-19] | Ans. b
X is equal to
a.l b.3 c¢.5 d10

20 | If logio® + logio(5x +1) = logio (x+5) +1 then | [PGCB-19] Ans. : b
X is equal to
a.l b.3 c¢5 d10

21 | If x+1/x =3 [PGCB-AE- Ans: 7

7A% N) —
Then x"2+1/x"2 =? 20]

22 | Aclass has 15 boys and 10 girls of them. [BITAC-AME- | 15C3 =(15* 14 * 13) / 3!
How many ways a team can be formed so 20] 15C3 =2730/6 = 455.
that each team consist at least one girl and 2 10C2 =101/ (21 * 8)
boys. =(10*9*8H /(2! *8

X
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1 (AT F© eI /ge 7 (At T2y 27 ? | PDB SAE 23 .93%

2 el vy fogel g1 w3 2 PDB SAE 23 ou B

3 JIRFICACH LT TS (FfS GORIRE 12 Wi ? | PDB SAE 23 800 &S

4 e @ fige feqe wegr Ko afSfoe | PDB SAE 23 NESCO
AR ?

5 TONH IR TLAM Fo] T ? PDB SAE 23 30778 MW

6 PR SAReRS [Rge @rw wigE 5iZy o | PDB SAE 23 AleqE BEFG ¢o
=R ? /I aR g

ZTMA0 wo A |

7 TSR CARTTIR @I (TR F© & ? PDB SAE 23 Q&

8 ®oE SRS e @rm fate Fe (o | PDB SAE 23 800 (FfS
AR FE7?

9 Which is the latest Electricity Distribution EGCB AE’2022 | NESCO
Company of Bangladesh

10 Which area is the last national grd failure in | EGCB AE’2022 | Eastern
Bangladesh ?

11 Install capacity of EGCB around ? EGCB AE’2022 | 1062 MW

12 Life time of Power unit in NPP in Rup pur ? EGCB AE’2022 | 50 yr

13 Which power plant is under the EGCB in EGCB AE’2022 | Horipur
Bangladesh

14 What type of Company EGCB ? EGCB AE’2022 | Public

15 When occur the pick hour of power at present ? | EGCB AE’2022 | 7 PM

16 Which turbine is as used in combined cycle | EGCB AE’2022 | Gas turbine
power plant ?

17 Highest Voltage is --- for power transmission in | EGCB AE’2022 | 400
Nuclear Power Plant

18 fyired 3ffe nm 0 QA TG A2 2 BPDB AE 23 03 b, 2038

19 What is the name of hydroelectric power plantin | BPDB AE 23 Karnafuli
Bangladesh

20 How many Board Member are there in BPDB ? | BPDB AE 23 07

somnonese
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21 Wapda is converted to BPDB on 1972--- BPDB AE 23 1 May
22 Where is the birth place of Indian billionaire BPDB AE 23 Gujrat
Gautam Adani?
23 A e (@™ SRS (T FIF Bl 2o s | EGCB SAE 23, | afem 1%
ICEACR? RNPL SAE 22,
AE 22
24 B @1 q=eeld @ 2 EGCB SAE 23 Afers ffcee
25 i gETET 2T et feee @ 9z | CPG SAE 22 Urenium
BRI
26 What type of CPGCBL ? CPG AE, AP 23 | Ultra Super Critical
Coal Based Power
Plant
27 What is the generation Capacity of CPGCBL ? | CPG AE, AP 23 | 2*600 MW
28 When The matarbari project is established ? CPG AE, AP 23 | 28 January 2018.
29 Which turbine use in Rooppur CPG AE, AP 23 | Gas turbine
30 Current Power System total installed capacity CPG AE, AP 23 | 30778 MW
31 Which generator used in matarbari to step up | CPG AE, AP 23 | Unit
voltage
32 Maximum electricity generation in Bangladesh | CPG AE, AP 23 | 16603 MW
33 Highest Power demand in Bangladesh CPGCBL AE, AP | 16603 MW
23
34 Life time of Reactor unit in NPP in Rooppur ? | CPGCBL AE, AP | 60 years
23
35 How many pole used in Karnophuli Hydro | CPGCBL AE, AP | None
Power plant ? 23
36 e fRgyees e GreTfeT coltbe $© | CPGCBL SAE 22 | 400 KV
?
37 fare BeAme @i @I qage 23 ? CPGCBL SAE 22 | Synchronous
Generator
39 @I 2I1STR ATH G A6 AT FN ? CPGCBL SAE 22 | Hydroelectric
40 | A ol A R (Fewd FNe] 6 ? CPGCBL SAE 22 | 1320MW
41 | woisfR AeeRS e e geE CPGCBL SAE 22 | 60 yr
YHEA F© ?
42 | rEeaee g ekl a1g) w30 ? CPGCBL SAE 22 | 6
43 | eI e Ry SAme el F© 2 CPGCBL SAE 22 | 30778 MW

somnonese
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44 ﬁ'@;g @Y [Ny I T (@I e CPGCBL SAE 22 | Auxiliary
ST AR = ?

45 How many pole used in Karnophuli Hydro | CPGCBL AE 22 | None
Power plant ?

46 Which one is the largest power plant in | CPGCBL AE 22 | Payra 1320
Bangladesh ?

47 Maximum install capacity of Electricity of | CPGCBL AE 22 | 30778 MW
Bangladesh ?

48 Highest electricity generation in Bangladesh ? CPGCBL AE 22 | 16603 MW 30

April, 2024

49 Which type of power plant of “Nuclear power CPGCBL AE 22 | Base Load
plant”

50 Which basic design is used for Nuclear power | CPFGCBL AE 22 | VVER
plant in Bangladesh.

51 India Supplies how many power to Bangladesh | CPGCBL AE 22 | 2656MW
?

52 What is the transformer called when it steps up | CPGCBL AE 22 | Unit
?

53 Install Capacity of Matarbari CPGCBL AE22 | 1200MW

54 Install capacity of Payra NPP ET22 1320MW

55 Which is not transmission voltage of PGCB ? BCPCL AE 22 66KV

56 What is the per capita electricity generation at | BCPCL AE 22 640Kwh
present in Bangladesh ?

57 What will be the generation capacity target by BCPCL AE 22 60000MW
2041 in Bangladesh ?

58 Which organization deals with both distribution | BCPCL AE 22 BPDB
and generation

59 DPDC 93 sirewidie «fsw & fewifibm ? | NESCO SAE21 | 3¢o

60 PGCB @3 800 (&S FIZF AT T ? NESCO SAE 21 | 38us Fesfs

15531.433 Circuit km

61 NESCO 49 (GRS (F ? NESCO SAE 21 | & SR wW

62 WZPDCL &9 (ST ? NESCO SAE 21 | g&fe

63 EGCB g7« F9 3 ? NESCO SAE 21 | $bq

64 - DPDC ? NESCO SAE 21 | 35-33= NULRVN

I GBIl
65 NESCO NESCO SAE 21 | wifses 3Aaw
66 NESCO / NESCO SAE 21 |vpo {5

somnonese
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/ Capacity: 2038/2711
MVA
67 - NESCO ? NESCO SAE 21 | ¢.uwv%% (0%3-
R0%9)
68 ? NESCO SAE 21 | s3I
69 ? NESCO SAE 21 | sy {5
70 Transmission loss of DPDC? [NESCO AE 21] . %
71 Total distribution transformer of NESCO? [NESCO AE 21] | >3,
72 Capacity of 400Kv HVDC substation is [NESCO AE 21] | 1000MW
73 Number of customers of NESCO ? [NESCO AE 21] | ,5¢,55%
74 NESCO [NESCO AE 21] | 16
75 NESCO  consumer ? [NESCO AE 21] v
76 WZPDCL system loss- [NESCO AE 21] %
77 NESCO consumer increase in [NESCO AE 21] . %
78 Maximum demand of NESCO [NESCO AE 21] | 896 MW
79 Member of DESCO panel- [NESCO AE 21] |12
80 DPDC maximum demand which month and [NESCO 21] 2135MW  07/06/2023
year CPieRIs
81 APSCL install capacity [NESCO AE 21] | 1647 MW
82 Ruppur thermal output [NESCO AE 21] | 3212 MW
84 Which year DESCO started its commercial [PGCB AE 21] 24 Sep 1998
works?
85 What is the system loss of DPDC? [PGCB AE 21] 6.08%
86 Which voltage isn’t transmitted by PGCB ? [PGCB AE 21] 66KV
87 What is the number of PBS ? [PGCB AE 21] 80
88 Bangladesh import power from which state of [PGCB AE 21] Tripura
India ?
89 The first unit will be launced in which year | [PGCB AE 21] 2023
NPCBL?
90 What is the number of power plant under BPDB | [PGCB AE 21] 40
?
91 PGCB which power company distribute their | [PGCB AE 21] None
power ?
92 According to PGCB the demand of power in | [PGCB AE 21] 13271MW
month August ?
93 ? [APSCL AE 21] | 2.5 Crore
(@05hb)1c)2.7d)25
94 ? [APSCL AE 21] | 2469 CKT
(@) 300 b)150 c) 200 d) 950 Circuit km

somnonese

[227]

A FRE @G R qRirest <




